» i< LR PR

vy 5 -5EMELG (LH)

H2000

1190 (&)

KFTHO200/

1 &
h
= .a
o ] o]
L 0
150 RSN
1190
35 1103 52
NER Q @ ’D%ﬁ e
L \I
>—\\ i
[ @8
N/ i
® ol o
R =
§ g,
Y\ \\ |}‘|
@éé@f ® <l s
<
S
) o @
0550 BUR (/20

Rnafl. &ESO8
) AROKREIASETNETT,

(BFBR (17 8)

8

™~

=

N~

O&EN (1/8)

® OO

NERGHEBR (17 8)

HE LRI B % (mm) i B i z
1 BAE (FAEAY) 050x50xt3.2 STKR400 HENRER (ThiEfin- &)
2 FEE HHAY) 050x50xt3.2 STKR400 HENBRER (TEHY- &)
3 FEHE (RAD 50x120 AB063S BRBILEAKE
4 FEME GRAD 50x 120 AB063S BRBILEAKE
5 PR 25% 60 AB063S BRELEARE
6 HML AN t3.0 7V IRERBEAR -
7 v - F - ITANY- -
8 fEwn - 12 A1100P 2%
9 Rivy 7 ¢ 16/ F40Y -
10 vy y-§t LGyy-% - J-NE
11 SR TL - b t2 ATYUA -
12 FERFTL - b t2 ATYLA -
13 R 060x 30xt2.3 STKR400 HENRER (ThiEfin- &)
14 BExey 7 060x 30/ PE -
15 EYYR té SPHC EREEE (TEfn- %)
16 kyy té SPHC HENRER (ThiEfin- &)
17 kY ISk $12 SGD ERldsn o &
18 gy 4x 20 ATYUA -
19 Eg 12 &l -
20 ZED) 3.2 SGH EREEE (TEfn- %)
21 R b M10x75 4.618% BREHn - &
22 ¥Ih2y M5x 10 ATYLA -
23 " M4x 10 ATYUA -
24 FTABRY M8x 45 ATYUA -
25 " M6x 15 ATYUA -
26 F7A by N- H52 BS540 -

0F) BRARIBROLY. FELLKEET I LAHYVET,
BESHE: vy - BoFRERVET,
Iy §-g (T-V8) LG (LH) yV-X#ZBALETO,
(Ny 7ty b 64mm. EES0mm)
EROIBAE. BRTI -V VIV I-%ZBAEETL,




